Answer Key 16

7.4:17,18,21,22,25,33,41,42
7.5:4,10,17, 18

8.1: 5-9 (On one graph), 17-20, 29-32, 37-40

8.4: 29, 30, 31, 49, 50, 65, 66, 83, 85

7.4
17) 18)
COS@Z—Q COS@Z%

B3

cos™' (——J:150°,210°
2

So 6 possible solutions are
150°,510°,870°,
210°,560°,920°

cos™ (lj =60°,300°

2
So 6 possible solutions are
60°,420°,780°,
300°,660°,1020°

21)
cos@=.28

cos™ (.28)~ 73.74°,

360° —73.74° =286.26°
So 6 possible solutions are

73.74°,73.74" +360°,73.74° + 720,

22)
tan@=2.5

tan ™' (2.5) ~ 68.20

So 6 possible solutions are
68.20,68.20+180°,68.20+360°,

68.20+540°,68.20 +720°,

286.26°,286.26° +360°, 68.20+900°

286.26° +720°

25) 33)

cosf@+1=0 2¢c0s°0-1=0

cosd=-1 cos260 =1

O=r+2nn 20=0+27xn
0=rmn

41) 42)

4cos’@—4cosf+1=0
(2cos€—1)2=0
2cosf-1=0

cosd =1

o :£+27m,3—”+27m,
2 2

2sin’@—-2sinf@—-1=0

244448 24412 1443
4

4 2

sinf =

1+\/§
2

0 =338.53"+360°n,201.47° +360°n

>1 sin™ (#J ~338.53°,201.47°




7.5

4)
sin®@=4—-2cos’* 0
sin’ @+2cos* =4
l+cos’ =4
cos’0=3

cosd = i\/g ~1.4
So no solutions

10)
cos20 =cos*6-1/2

2cos’@—1=cos’O-1/2
cos’@-1/2=0
cos@=+1/2

o :£+27m,1+2ﬂ'n,
3 3

17)
2cos30=1

cos30=1/2
30 =60° +360"n,—60° +360°n
6=20"+120"n,-20°+120"n

18)
2sin28 =1
sin280=1/2

20 =30"+360"n,150" +360°n
0=15 +180°n,75 +180°n

8.1
5-9)
(6,-77/6) (4,nl4)
24
(1.0
é 1 1 1 1 Ld 1
(B.-27/3) 2T
17) Q 18) R
19)Q 20) P
29) 30)

x:4cos(7z/6)=2\/§
y=4sin(z/6)=2

x=6c¢o0s(27/3)=-3
y=6sin(27/3)=3\3

30)
x=~2cos(-7/4)=1

y:x/zsin(ﬂ/4):—1

32)
x=-cos(57/2)=0

y=-sin(57/2)=-1




37)
R=y(-1)+1> =2

38)

R= \/(3\/5)2 +(-3) =6

DT 3z
¢=tan (_1)_7 9=tan_1(—1/\/§)=%
39) 40)
2 2

e (-6 - N ROERCRY:
9=tan"(l)=% eztan‘l(l/«/g)=%ﬁ
8.4
29) 30)
\/E(coszﬂ'sinzj \/E(cos7—”+isin7—ﬂ)

4 4 4 4
31) 49)
2@(cos3—ﬂ+isin3—”] 3(cos£+isin£]-2(cos£+isinz]

4 4 3 3 6 6
=6(c0s£+isin£j
2 2

50) 65)

Y4 57 6
\/g(cos—+isin—]-2(005ﬂ+isin7z) 3 +i °_ 2( MJF- - Mj _

4 4 ( z) cos c isin c
:2\/5(00597”+isin97”) 26(Cosll7z+isin117z)=

64 (cos+isinz)=—-64

66) 83)

A10 10 Tr .. Ix 10
(1-1) =2 | cos = 4isin— | =
4 4

32 cos70—7Z+isin7O—7z =32 cos3—7z+isin3—7z =
4 4 2 2

i=cos (Z + 272'1’1) +isin (ﬁ + 272'1’1)
2 2

%/;:cos(”+:7znj+isin(”+64ﬂnj:

-32i T .. T S .. Sx 3z .. 3x
COS— +isin—, coS— +isin—, CcoS— +i sin —
6 6 6 6 2 2
B+i —B+i 3
2 7 2 7
(83) (85) 85)
T T —1=cos(7z+27n)+isin(z+27zn)
° ° [ ) [ ]
— 1

1/4 T+2xn . (m+27mn
(-1)" =cos 4 +isin 4




